I lymewecmeu
cmpaHy 3HaHut






Omeadaume 3a2adku

AEBrp
EEX3IUN
Knwv-=on
PCTYO® X
LY WIWD

blb39HOA







Pewume npumepsbi

6+6= 12
13-4=9
12+ 5= 17
18 -4= 14
1M1+2= 13

19-2=17
4+9= 13
15+ 5 =20
7—7= 0
4+0= 4






PACTIPEQEJIUTE CJIOBA B [IBA
CTOJIBUKA

KITACC, MEJI, NMAPTA,
CTOIJl, PYUKA, KUCTb, NMEHAII,

TETPAODb,CTYIJ1, JOCKA









Pacwugpyume cka304YHbIX
a2epoes

OoLIK3nya

3onyLlka

exXHCHaa onBKpoea
CHexHaa KoponeBa

apHLleBa 6eablle LlapesHa NeGent

nwaCaa pasuaKcau
Cnawan KpacaBuua






Y2a0aume Ha3eaHusi ueemoe

oAyBaH4YMK



Llobpo rnokasroe:
8 cmpaHy 3HaHUu



Cnacubo
3a BHUMaHU:



